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(1) G 100 AFER! 597 R4, SeariHt weT I e geara soangl 3 seagfaerd
wd R aRd fhar TR Al Tt $F EE. 3 T 5 S QY e B WA
TREHEG O 9d W | qfar-gis

(2) AT THI-FH T W SR — T
L | et e o
(3) TSI SEAYCeR SPAIeR qereatl Syt e STl Seefehertiet 1ot = ferertan <y et
(4) ) T YR T FEATEN 4 T SR Gelereh v 1, 2, 3 31fOr 4 398 s faeiet o,
wwmmmmmmﬁ@mﬁ ITAAFAR FE FET, M
mmmwwﬁmﬁauﬂmammaﬂﬁmaﬁamﬁ
I Y. FITRT(AT Therd e IS ATeTU ST, Ue! o vImse U Ji9s 4.
¥) s s e wrdh SR STt aren faiRe dee o, @ e v e
RIS SRR AT W SRt STAUATA AT AR, FATeiiet Sttt fehat radieier seamaed
aTeraT 31 T Rt et steert st streaw, IHgERT watia
WA JyATITt AT gt
(5) H‘cfmqumaaﬁa AT HE Wil IR AR, STEEe YT SI0R AR A & U
T fadeR AR 991 Wredidd. $HME T Gl e SR 9 TETel Wy wE aeedy
TR AS T UTA AT JES SRS T, A THR a1 TR TRl 98 Riee®
Ut F3v1 TV ST FRHIhE WA I 3.
(6) aﬂmﬁ%qmméﬁém@wwm.w%ﬁﬁm@ﬁ@mmﬁm%mﬁ

(7 wmmmmmmmm ot R o,
ToT " IHeaN agives qguatdt sawuTe yyAre Retedr an swidd! waia dra I
STRUTR THE ST, ST [aioAT ST HISiaeiedl Trieh T e o] JaUHre! Teht
UYATR) T[0T TAT FAVATd Aeier .

AThIg 1
T IEAaREETE AT fRa Feh i aduda @ vt s R wrerdn oA
THTHTR ST SHETRTEAT THEaTd aruaTe 4vam 3« sTe. # 9% Hivdd aet wyagfeassl
v /st e mer HTE AT TIIEATE TR s AT AN HTeTE
mg‘ﬁﬁ iR Wﬂﬁmmwﬁmmmmﬁw
e Froma R widEy svaTETEaT AR - 82" awd e REEIER a8a e
HTTETSAT TEGHR HRATE 0T 71 o Srel et et U SaiarT SaTeree oo/
ﬁmm@mmﬁwm&&hmﬁh.
3G TR Tt SRl s SRR, aﬁaqﬁa}muﬁégﬁa@rﬁaﬁaﬁ%
wmmmmmﬁéﬂaﬁmﬁéﬁmﬁﬁ '
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1. ‘TuFEE Seeer AeaEa’ @it S A gaEe e 7
(1) i tEd= ggarta. §.Sft. et (LPG Connection) 3uri € e g ool
TreT TR,
(2) ¥=5 I 2017-18 91 Iufard! 5 Hid et fi <. Frevft 2var 32 Jaet oM.
(3) wiReTi s W 6 TSy e <oA1 ST TUE0T 01 B 1 Ao 38 TR,
(4) TEE ASAT 2016 WA A F0AW AT,

Which one of the following statements about ‘Pradhan Mantri Ujjwala Yojana’ is not

correct?
(1) ltis a social welfare scheme to provide LPG connections in BPL Households.
(2) The Central Government has set a target of 5 crore LPG connections for 2017-18.

(3) The objective of the scheme is to safeguard the health of women by providing
them with clean cooking fuel.

(4) The scheme was launched in the year 2016.

2. ‘Efm st simla TR sfe e o ofm W Fored’ @ Ao Ti9 T S
9 ST It 3R 7
(1) et b S A
(2) WP Ft fawm D
(3) T et forrr e
(4) e T e ae
Which name has been decided for ‘Scheme for Agromarine Processingi and Development
of Agro Processing Clusters’ ? |
(1) Pradhan Mantri Fasal Bima Yojana
(2) Paramparagat Krishi Vikas Yojana
(3) Rashtriva Krishi Vikas Yojana

(4) Pradhan Mantri Kisan Sampada Yojana

Heod] HWTATE! ART/SPACE FOR ROUGH WORK
A P.T.O.
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3. e AET (3101 |y 9= Afefcies H)
‘o’ 5
A, FES i, ETT S
9. FURUE i, fégrem
F. TREE iii. TEITR
3. i iv. UgHH
A § &F T
(1) i i v i
(2 i i v
3) iv @i Wi i
(4) i i v
Match the pairs (Literary work of Arun Sadhu) :
‘A’ ‘B
A. Novel i. Sandyapna Kranti
B. Story collection ii. Sinhasan
C. Play iii. Mantrajagar
D. Educational iv. Padgham
A B C D
1y i v
2 @i i i v
(3) v i i i
@ i i v
4. ACTHGIRH TETHIF IeTT ST HIUT AisH=1 YRT AHGHI, 2016 T T8 F FHIER

3 gen ?

(1) % aam (2) = aft=

(3) 7§ wifsra (4) T v, T Rz

Which scheme aimed at empowering the minorities launched in Jammu and Kashmir in
January, 2016 7

(1) Nai Talaash (2) Naya Maseeha

(3) Nai Manzil (4) Nai Pragati, Naya Vishwas

Foodl HHTATA ATMT/SPACE FOR ROUGH WORK
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5.

foraieh sfteria s @iete faa™ fa=mm =0 .

A, @ AR S R wien wRe e Fefier Sorg AR,
4. T SSHRE A R uiken YRl 7o defie weig oTe.
. AR A Rreroma sfeen Wi ey Sefiien worg AR,

T 1wty i R Mg R wRen wkedia o Tefiler g@aig o,

T Tt e e i 7
(1) 7,9, F (@) 9,%,3
(3) A, %K, S (4) A, 4G, F, 8

Consider the following statements in respect of Kidambi Srikant :

A. He is the first Indian male badminton player to win Australian open.

B. He is the first indian male badminton player to win Indonesia open.

C. Heiis the first iIndian male badminton player to win China open.

D. He is the first Indian male badminton player to win Swiss Grand Prix Gold.
Which of the statements given above are correct?

(1) A, B,C (@ B,C,D

3) A C,D | | (4) A,B,C,D

6. trgq?ﬁﬁa@ﬁ—mﬂm@?ﬂaﬁﬁaﬁmﬁﬁm yaﬁi?:m%?

(1) Furen sewrren ma™ 7w § @/ e tearen dneeiat Saedd o,
(2) GHE geH=A1 qaT Hed § U441 GRET 5.

(3) I Tov1 RYFEN v Y& AdR Ied TaivE 2.

(4) a1 s AR Yl qar Yod Taid wH e,

Which of the following statements about the Presidential Election-2017 is incorrect ?

(1) The value of vote of members of legislative assemblies depends on the
population of his or her state.

(2) The value of vote of each members of Parliament’s vote remains the same.

(3) The value of each vote of member of legislative assembly of Uttar Pradesh had

highest value.

(4) The value of each vote of member of legislative assembly of Goa had the lowest

value,

HEAT HINTHTS! ARTT/SPACE FOR ROUGH WORK

A

P.T.O.
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7. Wmamqﬁa%m:@ Wﬁ@@ﬂ)m%mﬁm@wmm

? e wie TSI TR,
(1) IauEe (2) e
(3) femmrat wewm (4) TeEIH

India’s first of its kind zero-emission electric bus service for tourist spot in India is launched
in the state of

(1) Uttarakhand (2) Meghalaya
(3) Himachal Pradesh (4) Rajasthan

8. W leT HATeTaT Tome T SIS TR Ter TTe v JIRie 3. R ThgTerd R

Y.

(1) Ho (2) & feeet (3) I (4) e

The Sports Ministry of India has announced that it is planning to establish a first National
~ Sports Museum. This is proposed in city.

(1) Mumbai (2) New Delhi (3) Kolkata (4) Bengaluru

9. wiRaW Merien 2017 Mad JEFRE! Hevid Y ummer f=m &0,

¥, foeams 19 gt IR TR,

. A o farfew g R,

%, ] AIERE SH e
AR Frordh frew /3y vy ? |

(1) Faa ‘ar fagm S0 IR (2) Fae ‘q faym =T IR

(3) e ‘F fauH s AR (4) = ad forym SO e
Consider the following statements in regards to Nobel Prize in literature 2017 :
A. The name of the winner is Kazuo ishiguro.

B. He is an British Author.

C. He was born in Japan.
Which of the above statement is/are correct?

(1) Only statement A is correct (2) Only statement B is correct

(3) Only statement C is correct (4) All the above statements are correct

FHosgl KT ART/SPACE FOR ROUGH WORK



ok

7 P10

10.

g - o = wmgn Foamd awa oy fafdg faeg i T amees

(@ N g ) FF Attt ngl Reht s, 3 S It amRa. :

(1) e ot o .

(2) Frer oft P

(3) R vy fawm

(4) R sy foem

The Union Cabinet has approved for a Memorandum of understanding {MoU) signed

among India and various BRICS countries for establishment of the BRICS-ARP. The
objective of this MoU is to promote

(1) Sustainable Health Development

(2) Sustainable Agricultural Development
(3) Sustainable Medicine Development

(4) Sustainable Environmental Development

11. T 3 .. S8 fren, AR seEiwe Fod 6 B6.1fl. e, o1 I9eieRe gem 3 el T A
91 TEtehe Fa 6 for 1. e R 7w SraRE ff e s vt fovg o ?
(1) 9fr ., gfém (2) 6%, ufrm |
(3) 12f%Hf, (4) 6 5.1, s
Suresh goes 3 km to North and turning to right he goes 6 km. Again he turns to his right
3 km and goes 1o left 6 km. How far is he from his original place and which direction ?
(1) 9 km, South (2) 6km, West |
(3) 12km, East (4) 6 km, North

12, ifrar € @famien 21t o . Pl &1 Efarien et qur sifaien aeM TR, Tt &1 v anfr

G TEW AR, ST & v T TR, Rie Gatd TER S AR ?

(1) fife (2) vam

(3) fufw (4) @fan

Ankita is older than Sangita. Girish is older than Sangita but younger than Ankita. Shirish
is younger than Shyam and Sangita. Sangita is older than Shyam. Who is youngest
among them ?

(1) Girish (2) Shyam

(3) Shirish {4) Sangita

FHooHT HMTETE! AWT/SPACE FOR ROUGH WORK

A

P.T.O.
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13.

fAam ; wwd srorasg, Seius TR
T dyitesh e AR,
HFAT :
. uewet TSreren, Gumye Tl
I. uwe fonee, faoesy T
l. HTE geieres & foreres aTmea
IV, e forees & G9ide STRd
(1) & || JAE 7 (2) THE FIAM T AT
(3) | fefen Il sTpAA w (4) & Il 0T |V TR T -
Statements : No educationists are researchers.
All researchers are teachers.
Conclusions :
L. No teacher is researcher
il. No teacher is educationist
. Some researchers are teachers
IV. Some teachers are researchers
(1) Only conclusion Il true
(3) Eitherlorilltrue

(2) None of the conclusions is true
(4) Onlyllland IV true

14.

4 |7
5 )1 |s& 3

2
1157 % 8
g Y2

(1) 0 (2) 8 (3) 125
Find the missing number in the given figure.

20N
5 1 e 3
wé/
g | 2
(2) 8

4) 216

(1) 0 (3) 125 (4) 216

FESIT HIFTTS! AT /SPACE FOR ROUGH WORK
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15. S ‘MACHINE’ 31 yset € 19-7-9—14-15-20-11" o787 378a | ‘DANGER’ A1
YTl Habat ret AT gt ?
(1) 11-7-20-16-11-24 (2) 13-7-20-9~11-25
(3) 10-7-20~-13-11-24 (4) 13-7-20-10-11-25
If ‘MACHINE' is coded as ‘19-7-9-14-15-20-11", how you will code ‘DANGER’ 7
(1) 11-7-20-16-11-24 (2) 13-7-20-9-11-25
(3) 10-7-20-13-11-24 (4) 13-7-20-10-11-25

16. Uen aga &6 fo=am wiaTern =t wifie: oo T HEarhled! 5.56 ST Hed ST ay foen
e =) B9 A9 o Raeh iR R 720 oo gl anfr ff smeet damet 4.50
T Treraett. <ft fore e 9 <] A, aea foe @i g Jm WS seer st
i et 20 Wz et O, @ Bt 9@ T et 7
(1) 13w 4 ffe
(2) 46 fafe
(3) 56 mfe |
(4) o AT TPV A% e Taeame TOH ST AU AT
Usually Rasila meets her brother at her local railway station at 5.56 p.m. who rides her
totheir residence. One day she left her office earlier and reached the station at 4.50 p.m.
She started walking toward her home, met her brother coming from their residence on
the way and they reached their home 20 minutes earlier than usual time. For how long
did she walk ?
(1) 1hr. 4 min.
(2) 46 minutes
(3) 56 minutes
(4) Cannot be calculated as time required for reaching home is not given

17. IO FHALSE GRS 9 BUEEE W T2 S AR, Ard 7 Had] Seg 9o,

15 Tfies e ST 8 wd Sietar. el dartT Sueh TaTa qor Hiviid Hf g IR AT, Iieh
Telieh AY ITTTE horedIieh! Tk a1 ST VIR ST diie] YiehdTd. SR A RN 3 sge1 A s
Heta STad 1T % IA sawRil TE 9T sie] G TS W S e de fadt ?

(1) 22 (2) 23 (3) 24 (4) 25

A group is gathered for discussing some problem related to water shortage. Of these 7
persons can speak Kannada, 15 can speak Tamil and 8 can speak Marathi. All of them
can understand English but none can speak. Each of them can speak one or more
regional languages that are mentioned here. If 3 persons of this group can speak two
languages and only 2 persons can speak all three languages then how many persons
are in this group 7

(1) 22 (2) 23 (3) 24 | (4) 25

A

HesqT HINTATE ATT/SPACE FOR ROUGH WORK

P.T.O,
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18. Ugerl 7% B Wi afeiE Thedt o Herft AR W Wi i ageft A we ?

(1) TRt 2) I (3) oAt (4) W%

Rahul's mother is the only daughter of Monika's father. How is Monika's husband related
to Rahul ?

(1) Uncle (2) Father (3) Grandfather (4) Brother

19.

Te Reiel uftaren o1ifor s arvama |

afaare (A) : 1 FTE) SR A YT ST AUAH 6 §id TR, |

WO (R) :  nRfE femmer oo SThme aramong swffa e sor=n gias 9
THTOT SRS YA 18 3R

wferareq anifoy SR 9 gvi ey data 3w waiE P

(1) (A) a7t (R) S T 37 (R) B (A) = 901 Tsdietor TR

(2) (A) a1 (R) 3 I 310 alidl (R) 2 (A) 9 q ISRt 18

(3) (A) T 3R R (R) & T A1

(4) (A) 38 3R WY (R) € T AR

~ Study the assertion and reason given beiow :

Assertion (A): Over the past few decades there has been drastic global warming.

Reason (R): The push for economic development has increased 1o dangerous
proportions the emission of green house gases into atmosphere.

Select the most appropriate option that describe assertion and reason :

(1) Both (A) and (R) are true and (R) is correct explanation of (A}

(2) Both (A) and (R) are true and (R) is not correct explanation of (A)

(3) (A)istrue but (R) is false

(4) (A)is false but (R) is true

20.

A, B3 C a1 wraea st e i e s <A, A fore & C = guréen FF TeA
e @ C =i forra sTaeien wig faer.

(1) 11 (2 9 (3) 7 (4) 5

A B, C are three consecutive odd numbers in ascending order. If the value of three
times A is three less than two times C, select the option that gives value of C.

(1) 11 2 9 (3) 7 (4) 5

HegT HIMTETE! ANT/SPACE FOR ROUGH WORK
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21. S dE.
e AT
I, IR i, ST
a9, mefeh i, e fiwd
¥ WeW iii, #erdl
B Ful iv, 3Eedt
H g =4
(1) v i i
(2) i i i iv
(3 i i v i
(4) i P v
Match the following :
District Taluka
A. Chandrapur i. Chamoshi
B. Gadchiroli ii. Gond Pimpri
C. Bhandara iii. Mohadi
D. Wardha iv. Devli
A B C D
(1) v Hi i i
2y iii ii i iv
3y i ii iv i
@ i i i v

HEET HIATETE! AW /SPACE FOR ROUGH WORK

A

P.T.O.
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22. 19 =1 IAEHT FHIRTG FIel! [Eddh 9 Y o /TITeeH =1 SIS Jeal.

q. I T . 3., R

%. wgan faafem NI, TEAT SRR MiEaTe

T, TSI AUEi WTETE IV. . TR TReat He
A ¥ ® T

(M1 m v

@ m oW

@t moonwv

@4 W

Match the following books published in the 19t century with their authors/editors :

A. Dictionary of Ancient Indian Historical |. Shankar Pandurang Pandit

Information
B. Vedartha Yatna Il J.M. Gurjar
C. Shad-Darshana Chintanika Il. Raghunath Bhaskar Godbole
D. Marathi translation of Manusmriti IV. Dr. Mahadev Moreshwar Kunte

A B C D

W 0w
@m 1o
@1 mon
@ N 10w

Heed HIATEE! AR /SPACE FOR ROUGH WORK
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23. e IR 9 ft Sy vl g ff T it e ge.

A TEAR . 31a¢Ed
q, S . IIIHIS
®. AP l. STk
T wWaa fegmm | V. TR
A T & k¢ '
(1) ) oW v
@un 1w i
3 Iv 1 I
@ m v I
Match the following newspapers and the places from where they were published.
A. Mabarashtra . Amravati '
B. Lokamat Il. Yeotmal
C. Matrubhumi . Akola
D. Swatantra Hindustan V. Nagpur
A B C D

(1) 1 i v
@n t v
3y v 0 I
4) m v I

24, o WieHTEA ST ofg hegmentt wudia Reater’ fafe.
(1) GIENE TR (2) ATHRE TEA
(3) Mg TR (4) TR
Due to the encouragement givenby ______, Krishnaji Arjun Keluskar wrote
‘Shivacharitra’ in Marathi.
(1) Sayajirao Gaikwad (2) Yashwantrac Bhosale
(3) Shahu Maharaj (4) Tarabai

25. FSR ad, UHd YU A0 o wedt & ! gaa S
(1) e (2) v gurr
(3) weashgeRHl (4) ool feveprah
Badoda Vatsal, Raghav Bhushan and Ambalahari were the newspapers by
(1) Lokhitvadi (2) Arya samajists
(3) Satyashodhaks (4) Vishnushastri Chiplunkar

Foed] HTETE! ARN/SPACE FOR ROUGH WORK
A P.T.O.
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26. YR faeile =t Hieal.
(1) HesToqr u= o8 - (2) =y iR
(3) =@ W (4) Torgroan Fisedt
Pick out the odd person from the following.
(1) Mallappa Dhan Shetty (2) Jagannath Shinde
(3) Abdul Rasul (4) Siddhappa Kambli
27, wRGTEEIAER_ Wamed v vagerean am.
(1) 76° 46°;80° 52 (2) 72°36 ;80°54°
(3) 71°’36’;80°55’ (4) 72°46" ; 80° 54’
The State of Maharashtra is extended between East longitude to
East longitude.
(1) 76°46' ;80°52 (2) 72°36';80° 54’
(3y 71°36";80°55 (4) 72° 46" ; 80°54’
28. Sfrewy A& |
fewmor IVIRY
3. TR i, W)
4, TR ii. TTE
F. WEW i, dTete
3. gl iv. U9
H I & B
(1) v i i i
2 i v i i
(3) i i iv il
@ @iioivod
Match the following : .
Place Sanctuary/Park
- A. Chandrapur i, Bor
B. Nagpur ii. Navegao
C. Bhandara iti. Tadoba
D. Wardha iv. Pench
A B C D
(1) iv i i i
(2) i iv i i
(3 Wi i vl
(4 i v i i

Hoed] FHTATA AT /SPACE FOR ROUGH WORK
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29, At = i Rrewiny 9@ T=Imd Yo a7

(1) =] (2) iR
(3) W a | (4) 93
The river Tapi enters in Gujarat State from which district ?
(1) Jalgao _ (2) Nashik
(3) Nandurbar (4) Dhule
30. RIS 3H NPT a2 fevmren s
(1) A& % | (2) e e
(3) FWHP % (4) TSI B
Satpura is divided into two parts due to
(1) Ajanta gap (2) Narmada gap
(3) Barhanpur gap (4) Satmala gap
31, NN WARFIR TITd TS} TerEE TR T I,
A, AR 356 : q. AFwR 352
%, IFwR 360 T =R 365
(1) & A (2) %o A, 9 (3) B A, T (4) oI A, B
A President’s Rule can be imposed in a State under the provision of
A. Article 356 B. Article 352
C. Article 360 D. Article 365
(1) Only A (2) Only A, B (3) Only A, D (4) OnlyA,C

32, yRATA @ifeth Fioen Teame fram gityeg sfiam o 2

. foEw q. HAle®
%, demmon T HEwey
(1) ¥RFA,E,F (2) A,F,8 (3) ®RA,F,ET (4 A, F,3
Legislative Council is existed in which of the following States of India ?
A. Bihar B. Karnataka
C. Telangana D. Madhya Pradesh
(1) OnlyA,B,C (2) OnlyA, B,D (3) OnlyB,C,D (4) OnlyA,C,D

FHoeqT HETATS! ARTT/SPACE FOR ROUGH WORK

A P.T.O.
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33. T YA /FR .
¥, fyahio=n fagrasa 32 g Tea.
9. fyumade s wift ges g 60 4.
(1) SeRd A (2) Had o
(3) =T =711 = Sl - ' (4) 1 3nivr 9 S AR
Select the correctstatement/statements.
A. Legislative Assembly of Sikkim has 32 members.
B. The minimum number of members in Legislative Assembly is 60.
(1) Only A (2) OnlyB
(3) Both AandB (4) Neither A nor B

34. FPF TR /FE e,
A, T HetEart figed Tsae e
q. T CAREa AT STeAg I T FTw.
. I=d AT AR Py Tsaere wte.
(1) S a1 (2) Hd A, (3) HaG A, & (4) a0& ud
Select the correctstatement/statements :
A. The Governor appoints Advocate General of State.
B. The Governor appoints Chairman of State Public Service Commission.

C. The Governor appoints the Judges of High Court.
(1) Only A (2) Only A, B (3) OnlyA,C (4) All of the above

35. g2 12 TR TG Hed IraT guay 2.
. RA™ W& T FHS
. Th T T 9 faftmes
%, Ud TS TxT (TR, fea 918)
T WRdE A Feasonaeia s
(1) T, &,8 (2) TRA,T,% (3 FHA, T (4) sa wd
Under Article 12, ‘The State’ includes
A. The Government and Parliament of India
B. The Government and Legislature of each State
C. Alllocal Authorities (Municipalities, District Boards)

D. Authorities under the control of Government of India ‘
(1) OnlyA,B,D (2) OnlyA,B,C (3) OnlyA,B (4) All of the above

&HoodT HTATE! ARM/SPACE FOR ROUGH WORK
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36.

IR TSTeredd v aiqel e Taaas et 3R ?

o, i P 3 geegad

9. TR HE

F. 994 9 41 IR

3. ANESE R e ’c:'uaﬁT AT

(1) TRA, T, & (2) R A, 9,83 (3) v, %,3 - (4) It wd
Which are the provisions of Indian Constitution related with the Independence of
Judiciary ?

A. Appointment and removal of Judges

B. Security of tenure

C. Salaries and service conditions

D. Power to punish for contempt of Court

(1) OnlyA,B,C (2) OnlyA,B,D- (3) OnlyB,C,D (4) Allof the above

37.

HIRUER GHTe ST Giellerdsh) e Ariesie qwT= GH1EY TSTUeid Fierdl 7787 ¢
(1) URTH qRET 9§ THHAYES oY TEUIETE i/ 6.

(2) HATTRER FR1 AN T8 A Feleg =1 HH TGO

(3) MO & FaTeMTha fefvam Tiegmea 3.

(4) FrvEfiwvmed 9 .

Which of the following Directive Principle has not been included in the Constitution
with regard to conduct of international relations ?

(1) Work for the maintenance of just and honourable relations between nations.

(2) Show respect for international law and treaty obligations.

{3) Encourage settlement of international disputes through arbitration.

(4) Work for disarmament.

38.

YRR Taee WeTerish! I Tend TR 81 e TR ARReSHE feren amg ?
(1) m@n@% TG £ (3T 14)

(2) @@ TEF (FT= 19)

(3) rufiy Rraum=n s5F (IIFHT 21A)

(4) a3 sfeaTa @A W (IR 21)

The Indian Constitution provides which one of the following fundamental right only to
Indian Citizens ?

(1) Right to Equality Before Law (Article — 14)

(2) Right to Freedom (Article ~ 19)

(3) Right to Elementary Education (Article — 21A)

(4) Right to Protection of Life and Personal Liberty (Article — 21)

wHooql HMTATE ARTT/SPACE FOR ROUGH WORK
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39, WA ToauRAd! G@ieia SR 3 ™ S Fie Se J@

e AT
¥, EedH e . 3
q. HEEE AR Il TR
%, TIRERR FEEhRe . Teeferm
<. auadi g=h V. FA=
A 9 h S
(1 N | v I
2 | Il Ml v
(3 | Il v m
4 I il v
Match the following features of the indian Constitution and their sources :
Feature Constitution
A. Judicial review l. England
B. Rule of law . USA
C. Residuary powers with the centre  Ill. Australia
D. The concurrent list IV. Canada
A B C D
(1) N I Y lil
(2) I Il M IV
@1 v
@ 1 | 1 v

40. VA TaHe=aT T @ield faum faemoa .
A, TEAM T TSI AT 27 TR,
T, FEATE aRE A ARTETER . ST S0 34T,
%, AW 71 Ffteesren aftere Wi e w1 FE
i wd faym /3 FaavemR/a ?
(1) %Fa A (2) . F (3) ®HI A, <h (4) #,9, %
Consider the following statements about the Preamble of the Indian Constitution.
A, The Preamble is an integral part of the Constitution.
B. The provisions of the Preamble can be enforced by the Court.
C. Preamble can work as source of power to the Legislature.
Which of the statements given above is/are correct ?
(1) Oniy A (2y OnlyC (3) OnlyB,C (4) A B,C
HeeqT HIHATS! AT /SPACE FOR ROUGH WORK
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41. wifedien sifmEr i a St midta Fer o ?
(1) ST T qRaeishar Ao
(2) wESTE RERT=T FHIG SR A
(3) wfed TrgarTerER T O
(4) e &
The Right to information Act was passed with following objectives.
(1) Creating transparency in public authorities
(2) Creating accountability in functions of public authority

(3) Constituting the Information Commissions
(4) All of above

42, wfed SR F@e, 2005 = ‘da’ g 3 @ swEaeiald I R Fot
fm

A, e e

. oEq W

F. I=9 TER

3. WHHE TE8

Fhe$ TR Jum /faws avarara ?

(1) w3 (2) W o I
(3) 31, F = (4) &[S

Under Right to Information Act, 2005, "prescribed" means rules made under this Act
by the :

A. Appropriate Government

B. Competent Authority

C. High Courts

D. Administrative Tribunals
Which of the statement given above is/are correct?

(1) Only A (2) OnlyAandB

(3) OnlyA,BandC ) (4) OnlyD

43, e iR e, 2005 = HiU TIEITER ARG *Arfgen srftmr’” e e R ?

(1) Fem 2 (2) oM 3 (3) M 4 (4) F@ 5
Which provision of the Right to Information Act, 2005 provides “Right to Information” to
citizens ?
(1) Section 2 (2) Section 3 (3) Section 4 (4) Section 5
el HWTETS AR /SPACE FOR ROUGH WORK
A P.T.O.
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44. TrelcTch! shegl T Hifed! SgeFa™ fohar Mgl TR ST Teraea R oA A8 7
Fasht Hivrd farem /foram s0=g emRa ?

(1) o o 2) == vd

(3) FoAMT S (4) =anfr=

The Chief Information Commissioner or any Information Commissioner shall be removed
from his office only

A. By recommendation of Prime Minister to the President

B. On a reference of the Supreme Court by order of the President

C. On the ground of proved misbehaviour or incapacity

D. By order of the President after giving judgement by High Court
Which of the statement given above is/are correct ?

o 8 e ¢

(1) Only A (2) All above
(3) Cand D (4) BandC
45. TifeerEn TR B 3T,
(1) wfaerers R (2) TR @R
(3) AufiF srfwr " (4) FHAR FEE A
Right to Information is
(1) Contractual Right (2) Constitutional Right
(3) Statutory Right (4) None of the above
46. Teo w1 fafeemmel fae Y < Sl oy eyt A & fefrea
i TR a7 ofseres Y ATeEd I TSaTe .
(1) =Fadiq e Tafeen (2) ifgen vl fafeen
(3) aTimrmw T fafen (4) wiRmfes fret ffem

means a system of secure key pair consisting of a “private key” for creating
a digital signature and a “public key" to verify the digital signature.

(1) Ascertain Crypto System (2) Acting Crypto System
(3) Asynchronous Crypto System (4) Asymmetric Crypto System

ool HHATE! AR/ SPACE FOR ROUGH WORK
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47,

HIUTRT BTH ST HTsRvaERar ST 0Tt IYHTUTE R G S 7

(1) #f= (2) fie (3) =R (4) =eh T

The external device used to store an image by optical reading is termed as

(1) Monitor (2) Printer (3) Scanner (4) None of the above

meﬁ%amﬁz(MHRD)?r%ﬁzaaﬁn i feandmeier amrefidt aTw T
TR Fercll Fore= 1 AR,
(1) z-|1 (2) 3-=gX (3) 3-heUl (4) 3-fRen

Ministry of Human Resource Development of Govt. of India which aims at creating digital
learning environment for design in India with ICT.

(1) e-sagu (2) e-tutor | (3) e-kalpa (4) e-shiksha
49, MWAMPHA_ 2N wEy, fogar, dea 9 0t o et & gen wih
Qaﬁﬁa BTG “FIRAEE | A g G F,
(1) HEFR (2) ¥-Zele (3) fagam (4) 3-fad
MHRD’s project is premier database of profile of scientist and researches

and other faculty leading academic msmutlons to record of R and D organlsatlons
developed by ‘INFLIBNET .

(1) Sanskar (2) E-Tallent (3) Vidwan (4) E-Research

50.

TR TRTER fRenfaeE (Kb) = wxisr fedt faew sefae sam ?

(1) w= &R focm (2) T TR 9w g

(3) T ek Wi g (4) TOF A

The actual number of ‘Bits’ shown by the term Kb (Kilobits) in reference to computer
terminology is

(1) 1000 bits (2) 1024 bits

(3) 1040 bits . (4) None of the above

51.

FUTE GRTGET aTReh ST A, & (TB) € w1 3 B e F 7

(1) EorRR ooy (2) <u forem

(3) 0 wézm (4) et T

In reference to the computer terminology the term ‘TB’ stands for
(1) Computer virus (2) Tera Bits

(8) Tera Bytes (4) None of the above

wHoedl HITATET AW/ SPACE FOR ROUGH WORK
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52. wRare faas wfdwrn ﬁeﬁﬁﬁﬁ@ﬁaﬂﬁm%ﬁmaﬁm@ N2 revE ot IR ?
(1) S-7= (2) -3 @ A-wdifFe  (4) R
Which is the certifying authority listed below certified by Controller of Centifying

Authorities of India for Digital Certificates ?

(1) D-mudra (2) e-mudhra (3) D-certificate  (4) DCA

53. SRAM, DRAM, EDO-RAM 2 g7vid AR W[ I el Gt 37Rq 7

(1) Ten 50T amh (2) iz =it Al

(3) e fowr wwdl (4) ST A=

SRAM, DRAM, EDO-RAM are the computer memory types related to
(1) Random Access Memory (2) Read Only Memory

(3) Hard Disk Memory (4) None of the above

54, FIVRERTET AT FrEfaTaTAl 33ITH A9 g, 9 & (CPU and RAM) ar=m Sirsvita Wicieish! M

IR AT 7 ,

(1) T8 (ROM) | (2) ¥ (Cache) amdi

(3) =13 o Awdt (4) FeHh A=

An interface used between CPU and RAM to boost the speed is termed as
(1) ROM (2) Cache memory

(3) Hard disk memory (4) None of the above

55. Wl Sivdt ot e 1Y awere s ?

(1) "EEd (2) =z o=

(3) g, (4) ThAUHT T
Which among the below is termed as ‘Brain’ of the computer ?
(1} Motherboard (2) Hard Disk

(3) C.P.U. (4) None of the above

&Heed] HTHTATE! IAFTT/SPACE FOR ROUGH WORK
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- 56, oy gftsesh Fffd sruEn © svaEea el fAum e .

3. faum ufeyg PR wE stven © FaEEa SRR 97993 169 =Y WO TR,

4. 9% faum ofteg Fmio steEarh o vvEy sl T FEarE o @ Hatta Tsaren
TormEe |1 ot T agHa He U0 AT ST

F. WL €1 A /TRifan 1 aren SgHar dsR Fe Sl

FAAE FIVR fawm /3 aviavemR /4 ?

(1) %aa A (2) ¥1,9, =% (3) 9, 4) A, =&

Consider the following statements about creation and abolition of Legislative Council.

A. The Parliament under Article 169 is empowered to create or abolish the
Legislature Council

B. Where the Legislative Council is to be created or abolished the concerned State
Legislature Assembly should pass a resolution to this effect by a simple majority

C. In Parliament, such a Resolution/Act is passed by a simple majority.
Which one of the statements given above is/are correct ?
(1) A only (2) A/B,C (3) B,C 4) A, C

57. WAt AT Fedid hae R w1 ) a9 uew Tegren Aftesren s

TEATgE O T B 7
(1) =R gRfine (2) wEl TRfite
(3) wW vifine (4) zat yitfime

Which one of the following matters on which amendment is possible only with the
ratification of the legislatures of not less than one-half of the States ?

(1) Fifth schedule (2) Sixth schedule
(3) Seventh schedule (4) Second schedule

58. WA Hvrer SRR Tsure e e sifter s e d ?
(1) SR FI0TeaTe) T&TE T8 SgHa fieiel T0e degt gEanE AN
(2) TETES YEEHATET A=HE Yo FIeaR TG qEanHl THa
(3) Rrarada agwaren nfden et Jewwm fumesT St Fvarn geen e
(4) Furasa T agrarn widiEn FEcen e e SErd FamEn g e

Under which of the following circumstances, Governor cannot use his individual
discretionary power ?

(1) Appointment of the Chief Minister when no party has clear majority
(2) Appointment of the Chief Minister when the Chief Minister in office dies suddenly

(3) Dissolution of the Assembly on the advice of the Chief Minister who has lost
majority support of Assembly

(4) Dissolution of the Assembly on the advice of the Chief Minister who has clear
majority in Assembly
FoedT SIHTETE ARMT/SPACE FOR ROUGH WORK
A P.T.O.
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59.

e fau faame =,

H. SEEEI et g AAgead 358, 0. gfid e sEa 1948 nel W .
3. fonfys o ovam frem T grte arffieEmEr e,

%. fonfis I ooam Rprsm 91 e siitfaamsm g,

FAh! v foum /A aFviar R /e 7

(1) #A,9 (2) #A, < (3) ®HKI (4) A

Consider the following statements :

A. The JVP Committee under the Chairmanship of Jawaharlal Nehru submitted its
report in 1948

B. The Bilingual State of Bombay was divided by the State Reorganisation Act

C. The Bilingual State of Bombay was divided by the Bombay Reorganisation Act
Which of the above statements is/are correct ?

(1) AB (2) A, C (3) C only (4) B only

60.

TR fae: 3 ARmaReEEEy el o e =

#A. s 3 wecEligesE @ gen Raeus sgaie sl 9R. W 9ETH
aferhgaR (Order of precedence) TEENAT IYTEATIE =T 3R,

¥, uRdlg @ g o e (Audit and Accounts Department) fervmmmsfie ge<iter safee=an
A= A FEE T ARTETRIEE © TseddeRIeR HoaTHHed e = iTed .

(1) Frem ‘s’ s @ fm T atm

(3) == faum s (4) 3 g TR

Consider the following statements regarding the Comptroller and Auditor General

of india :

A. The CAG enjoys the same status as that of Chief Election Commissioner, but
higher than the Deputy Chairman of Rajyasabha according to the order of
precedence '

B. The conditions of service of persons serving in the Indian Audit and Accounts
Department are prescribed by the CAG after consultation with the President
(1) Statement ‘A’ is correct (2) Statement ‘B’ is correct
(3) Both the statements are correct (4) Both the statements are false

HEST HINTATS ATT/SPACE FOR ROUGH WORK
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61. afEme™ Ryt 9rg wegaE W (hierarchy) it o,
(1) afmE - ge-afE - Rt afE - s aiE - Ju-afe - gereas aiE
(2) afya - sfifea afm - R 9RE - Fe-aRE - I9-afE - SeeE afE
(3) ufv@ - ge-afyg - Ju-afva - s afyg - wy Al
(4) afaa - ge-ufm - arfilea afa - s wfva - oo afve - Ju-vha

The correct hierarchy of the Secretarial Department is

(1) Secretary — Joint Secretary — Additional Secretary — Under Secretary — Deputy
Secretary — Assistant Secretary

(2) Secretary — Additional Secretary — Under Secretary — Joint Secretary — Deputy
Secretary — Assistant Secretary

(3) Secretary — Joint Secretary — Deputy Secretary — Under Secretary — Section
Officer

(4). Secretary — Joint Secretary — Additional Secretary ~ Under Secretary — Assistant
Secretary — Deputy Secretary

62. Fefie afvaear Efiatd Fow /& w1 /3 s /a ?
A, wefieen S3hh frvatew @ w
7. e gicri afeEaes qerea TR
%, AT A T F1e
Tt Fivrata fiaer,
(1) % (2) Fafrs
(3) Wiy (4 F, s
Which of the following is/are the function/functions of the Cabinet Secretartat ?
A. Preparation of Agenda for Cabinet Meetings
B. Secretarial assistance to Cabinet Committees
C. Allocation of financial resources to the Ministers
Select the correct options given below.
(1) Only A (2) BandC
(3) Aand B (4) A,BandC

HoodT HIATATS! AT/ SPACE FOR ROUGH WORK
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63. Qe faum foemma =

H. 95 = TAGERIT AT ~ 2009 37 SR A1 TaTen v gy
STt aiftn T s nEiEs s gea 2020 v awfivam oot o,

q. AT TSTIT=N AT=82 - 334 I Tk Geaims Aitaadt tdia s awg T
anftr v wRened adta s fafie gediatdt waifea T,

(1) faum ‘&’ s (2) faum ‘T e

(3) TR Rum sl (4) R Ry Ehh

Consider the fallowing statements :

A. 95" Amendment Act of 2009 extended the period of reservation of seats for the
- SC/ST in the Loksabha and the State Legislative Assemblies till 2020.

B. Article 334 of the Indian Constitution did not provided the reservation of seats for
women in the local bodies and hence reservation for women is not restricted for a
specific period.

(1) Statement ‘A’ is correct (2) Statement ‘B’ is correct

(3) Both the statements are correct (4) Both the statements are false

64. @relieiiehl F0Td Fraira FHEEHH PR 37 2174 7
A, Tegud! 7. nfmes
F. HEHIEETET 3. 9RaEl o 9 mReElEs
(1) 31,9, (2 49,%, (3 #,9,% (4 A,%, T
Who among the following are part of the Union Executive of India ?
A. The President B. Council of Ministers
C. Attorney General D. Comptroller and Auditor of India
(1) A,BD (2 B,C,D (3) A BC (4) A,C,D
65. e TRl T aRfiTeTder TeaRE e TR S/ woar/d v usdig gear

Rt T FESERE fRYE TrevEr e/ ?

3. RS g |, Mo
ERSiC T W
(1) 5 % (2 #,9 (3) #,9,% (4) #,9, %3S

Which of the foliowing subjects mentioned in the State list of the seventh schedule in
the Indian Constitution was/were specifically excluded from the jurisdiction of the Govt.
of Nationai Capital Territory of Delhi 7

A. Public Security B. Police
C. Land D. Taxes :
(1) Bonly (2) A B (3) AB,C (4) A, B,CandD

THesdT HETETS ATT/SPACE FOR ROUGH WORK
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66. Tl HEifgacrEat] @elie Ay e .

#H.

9.
<.

s,

o9 R AT R T gvawe S ord sre ff e T ITEvas
.

I AATEIET TG 3G Gd iR $Ee 9 e ©en 6.
I AT FIHE S g 3 Ed O i fied.
9 HfiHeaT weff r@wdd | stuea geEt Uaal.

FOTh! A faum™ /4 avtaraR/q ?
(1) 1,49, (2) 1,9, % (3) v = (4) & A
Consider the following statements regarding an Advocate General of a State

A
B.

C.
D.

He must be person who is qualified to be appointed a judge of a High Court

He enjoys all the privileges and immunities that are available to a Judge of a
High Court

He receives remuneration that is available to a Judge of a High Court
He holds office during the pleasure of the State Council of Ministers

Which of the statements given above is/are correct ?
(1} A,B,D (2) A, B,C (3) Only D (4) Only A

67.

TR IRUHT=AT ST atqdIgaR ST T maifed g 7

(1) 73 i wfaurm gedt
(3) 87 <t whaum geeht

(2) 86 i gl gweh
(4) 91 F gfaum geeh

Which Amendment of the Constitution of India limits the number of Ministers ?

(1) 73" Amendment (2) 86t Amendment
(3) 87t Amendment (4) 91'h Amendment
68. WRAE Ugud! YeT=a1 Faevhisial SHGaRM THiFA F YRId Fa I,

(1) wfia wHt YRa= 9= T

(2) wifa =t o TE g5

(3) wia =i Faias Age™ 9 ge

(4) wifia =il Fates Tear™ w1 =

The nomination of a candidate for election to the off ice of the President in India is proposed by
(1) Atleast five citizens of india

(2) Atleast five members of the Parliament

(3) At least fifty members of the Electoral College

(4) Atleastten members of the Electoral College

FHoodl HINTHTE! FOT/SPACE FOR ROUGH WORK

A
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69. WRAMIT HRYHR oM 75 F GIehid S atqdl 3rmed ?
7. #tuiee deaty anfwican e a8
%, RIS Hoell @ 75d SUAERY TaNHEAT S Abuieg o/
3. WA A0 9 W HEHS S A

grehd fadiean Gaar @i 3w Raa.
(1) o1, & 3nfor & Faz ) ¥, TS
(3) 9, Aft € Fa (4) afe &

Which of the following one the praovisions of Article 75 of the Constitution in India ?
a. Ministers shall be appointed by the President on the advice of Prime Minister
b. The Council of Ministers shall be collectively responsible to the House of People

¢. There shall be a Council of Ministers with the Prime Minister to aid and advice to
the President of India

d. The salaries and allowances of Ministers shall be determined by Parliament
Choose the correct answers from the codes given below.
(1) a,bandconly (2) a,banddonly
(3) b,canddonly (4) All above

70. ¥RAR YaFed =AARHEN T Ry den aeivgmEn i S o 7

(1) 9a9am (2) VRAR & i

(3) §u= (4) e wsh

To whom has the right to increase the number of Judges in the Supreme Court of India ?
(1) Prime Minister (2) Chief Justice of India

(3) Parliament (4) Law Minister

71. Gl P TRty TTEv FoAgE TR T 180 AT 39y S A ?

H. et |, IIUAA

&, YaWuw 3. ST gTad

(1) 1 & (2) srnfra (@) w1, s (4) N9, %A
Who among the following dignitaries has to take an oath to defend the Constitution of
India before taking up post ?

A. President B. Vice-President

C. Prime Minister D. Speaker of Lok Sabha

(1) Aonly (2) AandB (3) A, BandC (4 A/B,CandD

T WIS SITT/SPACE FOR ROUGH WORK
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72. @ed faym fa=ame =

A, R Tsaee™ Igeae-332 Wedl Tare Ramenidia siggfea st anfor srgyfea
SHTARATE TR TR TR Fam AT R,

9. e genrerE 29 fumen vaares ? s Snfen el wEfa .

%F. T HERI 25 RemeT Faqre @ sggiad SeTdie SASaRiETe! T e,

- ot P fum /A FuEvengg 7

(1) T A (2 #€,9 (3) 9, (4) 1,9, %

Consider the following statements :

A. Article — 332 of the Indian Constitution deals with the reservation of seats for
Scheduled Castes and Scheduled Tribes in the Legislative Assembly of the States.

B. Atpresent, in Maharashtra, 29 constituencies are reserved for the candidates
beionging to the Scheduled Castes.

C. Atpresent, in Maharashtra, 25 constituencies are reserved for the candidates
belonging to the Scheduled Tribes.

- Which of the above statements is/are correét?
(1) A only (2) A, B (3 B,C (4) A B,C

73.

T TR =T Gide G e
. TR aEal qr STEal.
9. W1 SeoiE HHETS Jgd e AR o1,
%, Gadm SRS yrardie 8 v Tievaqul 3w R
T. HIUE QHEAT 7 1 S iearaT ShIvIdTe! T I TeUia Iuferd HUaTH Haw Wdd A,
TR FIrd favm Fviay Ry ?
(1) a1, 9, =% (2 =#1,%, 3 (3) 9,%, (4) 1,9,
Consider the following statements regarding ‘Zero Hour.
A. lt follows the question hour
B. It mentioned in the rules of procedure
C. Itis an Indian innovation in the field of pariamentary procedure
D. During zero hour, members are free to bring up any issue of public interest
without prior notice
Which of the statements given above are correct?
(1) A, B, C (2 AC,D (3 B,C,D (4 A/BD

Foodl HTHTATS! ATTT/SPACE FOR ROUGH WORK
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74. TsaTM TeguTeron fafufes sfteriaEa acle fur feamd =

#. AT Rftrrear srftawm ey v stean Wy STV wERaTd o7 ey R
TERA FF AHAT.

3. o U faltriceran Agw wita F yaar.

%. q Vol oo Rigsmsn T fiftreem ew uee v,

T, i fatgs wriesfs qenfaes ofe @ & usguden e e trad 39 v
Feteh woret fRAuA aviavana 7

(1) 3,%, (2) ¥,9,% (3) 9,%,3 (4) #1,9,8
Consider the following statements about the legislative powers of the Governor of the
State :

A. He can summons or prorogue the Session of State Legislature and dissolve the
State Legislative assembly

B. He can adjourn the sittings of the State Legislature
C. He can send messages to State Legislature with respect to a pending Bill

D. He can reserve the Bill for consideration of the President if it opposed to the
Directive Principle

Which of the statements given above are correct ?
(1) A,C,D (2) A,B,C (3 B,C,D (4) A,B,D

75. mEnmere faftmes aitd vedtonad aweliatd s faum sriwrame 7
(1) e witfn g o
(2) SR ITEwTa B aitie e e X T AquEh w1 afinEn Sese wug S wiRs
(3) witdn e 71 TAHEEE O e
(4) ot T v g T aWRE GERT U G Sdeurd ST T

Which one of the following statements is incorrect about the Legislative Committee
System in Maharashtra 7 '

(1) A minister shall not be a member of the Committee

(2) If the Deputy speaker is a member of the Committee, he shall be appointed in a
Chairman of the Committee

(3) A member of a Committee shall be eligible for renomination

(4) The quorum of a Committee shall be as near as may be one third of the total
number of members of the Committee

HeeqT WINTATS! SIWT/SPACE FOR ROUGH WORK
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76. @reie v Rewa =
. IR TT B Teaieie FRET ghom o1,
9. ‘TTva ek ifammEl @9 (indestructible Union of Destructible Units) 31@ wRe™
TS Fae ARegH o Jeas o,
F. ‘srfereht v saeen ww srfereh @ (Indestructible Union composed of
Indestructible States) 31® e TRIETNG =0 Gaed AATEAM G0 el 3R,

TAVH FIvrd faem /v gviaveamR/aRa ?
(1) 1,9 (2) wF = (3) 9 A+ (4) TR F
Consider the following statements :
A. The Indian Federation is the result of an agreement among the States.

B. The Indian Federation has been observed by Supreme Court as an
‘Indestructible Union of Destructible Units’.

C. The American Federation has been described by their Supreme Court as ‘an
Indestructibie Union composed of Indestructible States’.

Which of the above statements is/are correct?
(1) A,B (2) OnlyB (3) BandC (4) Only C

77. Taum (A) : I TR SR, 1935 STIOR SWifteR F51 faftreesme fio .

&HROT (R) : WRd TR FRET, 1935 aqgwwnaﬂa ifde AT e o1 o geme
ferarieht Rrmoft deht Aeft St

(1) A 3Ty R SFet Ster o/ R 3 A 3 91 Tediay 311

(2) A 37for R g SR 3TRd WY R%A%ﬂmm@wmﬁ

(3) AU 3R W R IF 2

(4) AgH 9 W R TR a1

Assertion (A) : Under the Government of India Act, 1935, the Residuary Powers were
vested in the Central Legislature.

Reason (R) : Under the Government of India Act, 1935 subjects are divided into
three lists viz. Federal, Provincial and Concurrent.

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not a correct explanation of A
(3) Aistrue but R is false

(4) Ais false but R is true

ST HTATATE! SINT/SPACE FOR ROUGH WORK
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78. e faum faawmE =

¥, WAt gage qiee T 8 ITaRm HeTed SEvER B

q. TR 1 I59 AT AR Ay

F. s WG FREHS I TY TR

T Y% A AETRIT] W@ St
Fh wiorcht faum avigvane/a ?

(1) amfors (2) = anfrs (3) Fanfirs (4) wanfors
Consider the following statements : _
A. The first Sheriff of Mumbai after independence was Shantaram Mahadeo Dahanukar
B. The Sheriff is an officer of the High Court

C. The tenure of the Mumbai Sheriff is five years

D. The rank of the Sheriff is below the Mayor
Which of the statement/s given above are correct?

(1) AandB (2) BandC (3) BandD (4) CandD

79. @ree faam fommE =

T MTEATT GHARE™ o saAmRe e war= srftemr=rmne g e fease Sidaan
I

q. TGN TSI TSAITeATe] UsITAT EiHl SARmrren sardta 3a r8d 3TN Shiveame!
el FEi=h R, WA GETEA SEAH, o St TR g stite e aee

Ao Ty Tigaar .
(1) Fam s (2) fum s T
(3) e fum s (4) =N Ty Hh

Consider the following statements.

A. The President may, without the consent of the State Government, entrust either
conditionally or unconditionally to that government or to its officers, functions in
relation to any matter to which the executive power of the Union extends.

B. The Governor of a State may, with the consent of Government of india, entrust
either conditionally or unconditionally to that government or to its officers, functions
in relation to any matter to which the executive power of the State extends.

(1) Statement A is correct (2) Statement B is correct

(3) Both the statements are correct (4) Both the statements are false

HooAl HHTHET ATN/SPACE FOR ROUGH WORK
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80. WiElauh HIv FHam g e ?

(1) 38 ot wear geedt IferfRm, 1975 JuR =32 356 W Ut UL Jme aifem
7 furas 378 o1 rETea FivcaTe) RIS SIS HROTETE TR ST JUTR ATE.

(2) 44t g et IfFEm, 1978 AR Treud TuwH ? =iie qRiddmrear Saet
e, 3R gfa F IR,

(3) ifdarar & TR e Afireaitdl wh omR W wiedfEg, 9ro vafion=n
T GRS JTe8e 356 = HNET Hial Id.

(4) Sterdd wweh AT

Which one of the following statements is incorrect ?

(1} Underthe a8th Constitutional Amendment Act of 1875, satisfaction of the President
is final and conclusive in applying Article 356 which could not be challenged in any
Court on any ground. ‘

(2) The 44" Constitutional Amendment Act of 1978 implies that the satisfaction of
the President is not beyond judicial review.

(3) Secularism is one of the basic features of the Constitution. Hence a State
Government pursuing anti-secular policies is liable to action under Ant. 356.

(4) None of the above

81. Teliaeh! Fivre dftdH farata damd U9 =aen goad ?
(1) Scieatd dgar gird) (2) TV Tedr K
(3) SHAE e Q! (4) 2. uet. . gud S
Which among the following committees recommended a two tier system of Panchayat raj ?
(1) Balwant Rai Mehta Committee (2) Ashok Mehta Committee

(3) Vasantrao Naik Committee (4) Dr. L. M. Sanghvi Committee
82. YIHId Hikdten TRer 7 TR 9.

(1) ITafcT yora (2) SH9YE T

(3) wEehHT Uity (4) Foren demE

Panchayat Samiti is known as “ " in Assam.

(1) Anchalik Panchayat (2) Janpad Sabha

(3) Mahakama Parishad (4) Zilla Panchayat
83. & Hu§ HERUIRTR € oS WETRITRTRT FTae THM STeiEE! .

(1) 1988 (2) 2001 (3) 1888 (4) 1788

The Municipal Corporation of Greater Mumbai functions according to the Mumbai
Municipal Corporation Act

(1) 1988 (2) 2001  (3) 1888 (4) 1788
Hoed| HIFTATS! AWT/SPACE FOR ROUGH WORK
A P.T.O.
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84. TEFTUIRcTRe Wiefict M Tama =21 371707 eoiehl shivrel Rl s1famd oTR & ofiestn ?
S -Teget 318 F0
TTGTT HLETOT 00
. et 9 3w T el g F O
I8 9 HESHeh T anhvil § 3EWTe S
Elic el A DIDRECK]

(1) FTamfra (2) 1,9 (3) FeirE (4) 9@ wd
Consider the following functions of Muncipal Corporation and |dent|fy that which of them
are obligatory functions ?

A. Registration of births and deaths.

B. Protection of the environment.

C. Making provision for secondary and higher secondary education.

D. Construction and maintenance of the bridges and pubhc roads.

Choose correct options from above

(1) AandB (2) AJBandD (3) AandD (4) All the above

W H o8 g

85. HWERTZHIE BEV Aex (Fhek Hew) TR

F. M3 q. T

F. B 3. Geh

(1) TR A, 9, F (2) K49, ¥,

(3) TRAA,F, T (4) BF1 A, 9, T

The Cantonment Boards in Maharashtra are

A. Kamptee B. Badnera

C. Deolali D. Khadki

(1) OnlyA,B,C (2) OnlyB,C,D

(8) OnlyA,C, D (4) OnlyA,B,D

86. TRUIfcERH! Fesl! Haeh TS o1 wHETE YRR goel geahan fasis

3o A A= ST STTEER AT STl AR,

(1) <A (2) A (3) @& (4) @&

12th Schedule of the Indian Constitution Specifically mentions types of weaker
sections in the society to be taken care by the municipalities.

(1) Two (2) Three (3) Six (4) Seven

HEAT HINTHTS JATT/SPACE FOR ROUGH WORK
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87. TRUIfTHIN Tl Tl TRy TRAE TS IV HEAGE I HUard Jrel
) LK
(1) 72 < wemgemil (2) 73 9 wEAIgE
(3) 74 =t TeATgE=it (4) 76 = weTgEd
Which amendment Act of the Indian Constitution added provisions regarding
municipalities ? :
(1) 72" Amendment (2) 739 Amendment
(3) 74t Amendment (4) 76" Amendment
88. VAW TT9AT Feieh afeht TR uRwg FHordt 8 ?
(1) I (2) el (3) Wz (4) foeeht
Which was the first municipal corporation established in India ?
(1) Bombay (2) Calcutta (3) Madras (4) Delhi
89. NI HETRUTfeTahl HRIEMIHT HEMRUTfentte T it e
IrE I,
(1) 10 (2) 12 (3) 16 (4) 15
According to the Maharashtra Muncipal Corporation Act the standing Committee of the
Municipal Corporation shall consist of Councillors.
(1) 10 (2) 12 (3) 16 (4) 15
90. 73 <1 YAIGE HIRIIER SR U e Faevmn aefavamama) wia wuft frdt sammiar
3G STEYEF IR 7
(1) 18 =4 (2) 2594 (3) 21 =d (4) 30=d
According to 73 Constitutional Amendment Act, the minimum age for contesting
elections to the Panchayat Raj Institutions should be
(1) 18yrs. (2) 25yrs. (3) 21yrs. (4) 30yrs.
91. 74 7 U GHk! FHIFEER WIS HRETHE S0 STaei= FHeY v e ?

(1) 9 rge=h 2) 10 aggsh

(3) 11 o7g=h (4) 12 i g

Which Schedule is added to Indian Constitution by 74" Constitutional Amendment Act ?
(1) 9 Schedule (2) 10% Schedule

(3) 111 Schedule (4) 12" Schedule

FHooqT HIATETS! ATT/SPACE FOR ROUGH WORK

A

P.T.O.
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92. R (SaH o1 TR STFE e TraTferhroa fbdt Fateh /Semieri= A woam e oM ?
(1) 29 (2) 18 (3) 25 (4) 22
How many functions responsibilities of the municipalities are listed in the 12th Schedule
of the Indian Constitution ?
(1) 29 (2) 18 (3) 25 (4) 22

93. & THET - (WRATIS AREas Fm)

‘S -
. e yeen i. T () TR
9. S A i, TrgTeT et
%, GamW Yehed iii. =83, FemTE
3. Tded O v, Tz 2
AH o h 4
(1) iv i i j
@ .iv il i i
@ i v
(4) i i i iv
Match the pairs (Community Develdpment in India) :
‘A’ ‘B’
A. Shriniketan Project i. Mumbai (Bombay) Government
B. Badoda Plan ii. Mahatma Gandhi
- C. Sevagram Project iii. V. T.Krishnamachari
D. Sarvodaya Plan iv. Ravindranath Tagore
A B C D
(1) iv il i i
(2) v il i i
(3) i v i hi
(4} iii i i iv

HEedT HHTATSI AWT/SPACE FOR ROUGH WORK
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94. T FUA /U esl.
&, g, Ao 9 ATets A1 Ui 73 |t e ol SR R .
. 73 i 9T G STl O S TS e W TR,
(1) wa A (2) w4 9
(3) ¥ anfH & = (4) 2 anifon 3 Tt A
Select the correctstatement/statements -

A. 73" Constitutional Amendment is not applicable to States of Mizoram,
Meghalaya and Nagaland

B. Madhya Pradesh is a first State, to implement the 73™ Constitutional Amendment
(1) Oniy A (2) OnlyB
(3) BothAand B (4) Neither Aand B

95. 73 <1 I gt FId iy e A -
A, AT ERIER A TS o HIUTHE T 30410 el
q. 1 gEAER TEEa T W11 U4 T3 STrpTret e Fvara et
&, A U GoI Tl e ok fafive sy e Reeh o
3. A1 GORA SAnerEeEh FOR Yo T € TR H 3. |
(1) & A, 9 (2) B H, S () v &+, 8 (4) T A, &
Select the Incorrect statements about 73 Constitution Amendment —
A. This Amendment gives Constitutional status to Panchayat Raj
B. This Amendment establishes State Financial Commission for Panchayat Raj
C. This Amendment exempts some States and certain areas -
D. Rajasthan became the first state, to implement this amendment _
(1) OnlyA, B (2) OnlyB,C (3) OnlyC,D (4) OnlyA,C

96. WA HaT=a AT FIor FareangaR a9i=d 9 3= IEEARId A
e WewTH gear e ?
(1) H9EME wRdt Famer 1973
(2) wa. W, Tt Farer 1982
(3) T A Testrhed 1 Wi 1T, Farer 1993
(4) ToTETd FaTer 1992
Which of the following Judgement started system of collegium in the appointment of
Supreme Court and High Court Judges ?
(1) Keswananda Bharati's Case 1973
(2) S.P. Gupta Case 1982
(3) Supreme Court Advocates on Record Association Case, 1993
(4) Ramaswami Case 1992

HesdT HATETS! AR/ SPACE FOR ROUGH WORK
A : : P.T.O.
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97. Wil SHIVIEAT STel T SMERIER 3TN0 e ATyt STIeefia wtar 3a = 7
(1) S TREFRET T T /Thed el 8
(2) 2 I G /Tewd Tl o
(3) S Ty TeAE 9% /eod Fel oA
(4) 919 AGfilE <JrEEEE 9 e 8T
On which of the following grounds, Writ of Certiorari can not be issued ?
(1) Where there is error of Jurisdiction
(2) Where there is error of law apparent on the face of record

(3) Where there is error of facts apparent on the face of record
(4) Where there is violation of principles of natural justice

98. I=d AT <Rl T TR ST et T,

Y R |
A€, 215 _ i, ITRERR Fala geam FRidd T[T Wa:Fe a1 e U
9. 227 ii. wde st
%. 228 iil. el STee wee R SRR
B. 235 iv. G TRIEEET AH AfwR

A d@ & ¥

(1) i Wi v

(2) i i v i
(3) i i iv i
(4) iii i i iv
Match the following regard power and jurisdiction of High Courts.
Articles Provisions
A. 215 i. Withdraw case before subordinate court to itself
B. 227 ii. Power of Superintendence
C. 228 iii. Power to punish for contempt of court
D. 235 iv. Power to control over subordinate courts

A B C D
(M i i i v

@ i i v
@) i i v i
@ i Wi v

wHooq] HFHTHET ANT/SPACE FOR ROUGH WORK
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99. WiEITUR P IR Gaed IRIeRITR e Tl =ArRniie wem daad! fHuiia e sm 7
(1) YRR U= 91 =8 124(2)
(2) s <5 fean, 1860
(3) waT=a e (ArEgdi=h gen) sifufam, 1956
(4) FAUH Froret TR
The number of judges of the Supreme Court of India is maintained from time to time by
which of the following provision ?
(1) Article 124(2) of the Constitution of india
(2) The Indian Penal Code, 1860
(3} The Supreme Court (Number of Judges) Act, 1956
(4} None of the above

100. GrEfe AuHR sEcE #a.
3. GFHE T FRGHI AEEH FW T TARACEHN THEe [ade TR,
g, “orftred afuemrRat | @ Fanr Ieie Fweame wrse fRaway mive (PIL) @
YR IET 367 HIeAl.

T Ry s aed gt e,

(1) foum ‘&1 stat oy fagm 9 g% o

(2) I fou™ SRR ed T AW HIUAR] Fegad A1

(3) A e SR A § TERN gETE AR

(4) foum 9" 9% wg o fum ‘& @1 7 o

Consider following statements :

A. The essence of judicial activism is an active and efficient justice delivery.

B. Liberalisation of “Rule of Locus standi” has introduced the Public Interest

Litigation (PIL).

Which one of the following options is correct ?

(1) Statement ‘A’ is correct and statement ‘B’ is incorrect

(2) Statement ‘A’ and ‘B’ are correct but they have no correlation with each other
(3} Statement ‘A’ and ‘B’ are correct and they are consistent with each other

(4) Statement ‘B’ is incorrect but it is complementary to statement ‘A’

HeeAT HINTHTE! STRT/SPACE FOR ROUGH WORK
A ' P.T.O.
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Il - (qB 1961 Qe....)

(8) WgfEFRe faféa e fafire s w3 %W (Th 9 ) +R, Ty fasea iia Soafise
T TR FHIETR Hed FH Foad § 0l FOIT] IZAH o 278, 3 WA 5 F IR
IEIRE I ST Ferean | whamed gom= NsTHAT iast s Irftifan-g2”
ITefie TGEITAR FRATS HGIG ASA & aIN| 500) FHIA Ueh AuTo1 SHRIEETeT 7o /e o2
U BTN =1 SST=4T 1dg 9T Bid,

(9) TR THIBHEE FAETA fafen Ferell 98 HUeIHE INGERIET @ Fegiaeh W@a; sie
TR U S0/ WEr AR, AT Gensanaiel WvargE! INEaR™ ATt
IROTAen wrT - 1 EaAgEThe T faawar uwd w0 ey AR,

AHAT 094
¥. 3. 201, weth =@ aee svaEd Sl ged: s ool ?
(1) wamt g et (2) Svat=s famT
(3) T TR W (4) TMITEFT TG

T WA A It (3) T Ui U o1 oM. e I AT It () Bige. AT
el 79 %, 201 FHHE IW-FE @) § TgB N SRR FEA TRA0)
EEH AR,

%201, A & . @

mqﬁﬁwgﬂgﬁ%ﬁﬁamwmm-mmwmm
IAEFRERIE 1 & WAFEHHEHE TEiid g Ui swifhd we sraamEr. gesiEr
e ®IedT Y SieTdd auas, e a1 R 99 auE 13,

TSl HTATATS! WA/ SPACE FOR ROUGH WORK



